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-

thing from topic 4 :

Ref: A-B-C-D means :

A-B-C, A-B-D ,
A-C-D,

and B-C-D

-l
C

-An
⑧

!*e

-
say A

,
B , C ,

D lie und
and

fil- R is a ruler . Then
the

I above says : Or If(A)<f(B)<f(c)
< f(x)

#- (B) < +(A)



See HW 4 problem 7

for a simplification of the[above definition



Topic 5-egmentand rays

Hef
: Let (8,2, d) be-

a metric geometry .

Let A

and B be distinct points

from I . The
line segment
-

from A to B is defined to

-

be the set
⑳

AB = EAYUSBYUSCEP/A-C-BY
= [CEB)c= AorC = Bor A-C-B]



Ex : Consider the hyperbolic
en

plane It= All
,
2H
,
dH)

Let A = (x ,, y ,
) and B = (xx ,Y2)

be in All where x ,
<X- and

A
,
B lie on chr

Ther

/B = [C = (x,y)/Cec) where 3
x ,
= x = X2

S

C= (x ,y I
B = (x2 ,

yz)

·A = (x,B ,) ⑧ #B

-at



prof: see notes and

HW S #Il ⑭-
-

Tegem
: Let (4, 2 , d)

be

a metric geometry
.

Let A
,
B
,
C
,
DEB with

AFB and CFD .

If B
= ED
,
then99 , 43
says either :

andB= D
0 r

#B= C
-

Prot: See notes
-



This theorem makes the

following definition
well-

defined .

Let(B, 2 ,
d) be

a metric geometry
.

Let A ,
Be

with A*B .

#B are

The endpoints
of
-

A and B .

The Length of
FB is

AB
= d(A , B) .



De: Let (8
,
1
,
d) be a

metric geometry . Let

A
,
BEB with AFB .

from A towards B
The re
-

is defined to
be the set

FB = FBU [c -8/A-B-c]
= [CEB/= A or A-c-B or

c =BuA
- B -c)

·



~

· B -I CD B↳F8↓-/
plane



therem: Let (2
,
2
,
d) be

a metric geometry .

Let A
,
B
,
C
,
D- B with

AfB and CFD .

Then :

sil If
CtFB and CFA ,

-

then
Fi = Fi #= AB

&

·

B-C
->

(i) If EB= CD ,
then A= C

proof
: See HW5#9 #
-



The previous theorem makes

Wthe following definitionwell-defined

Hef: Let (B, 1 , d) be a

metric geometry
.

AFB .

Let A , BE
B with

-
The vertex

for initial points
- ->

AB is
of the ray t

the point A
. B-

S ⑧W vertex



#Problem 6 :

Let (8, 2 , d) be a

metric geometry .

Let

A ,BER
with AF B .

Then :

(a) FB = BA ->

(b) FB
= FB < AR

(c) B
= ABBA

->

-

(d) AB
= ABUBA



Therm: Consider the

& = (1! 2zide)
Evalidean plane

Let A
,
BERR'with AFB .

Then :

EB = SCER) ?

B = SCER)n **

proyf
: HW5 #10

#


